
Solution served as a suggestion only
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=

-z+2W=- i

2 TN = z -i

:W = = (z =i)

sub in

12-1)2 += (2-1) = 6

(2-itz = 6+ ti

-i) z = 6fti

5-zi)z=12+ i
5 : thti xf=I+2

=>

Ci-ICWE:
I



Solution served as a suggestion only

->
2F+ 2x

-1= 2+x)" 1"= -

*****

- +2**Y 7"(0) = -E
= sx+x

f) (0)= T

7) (0) = 0.955

&) (x) = 0.955 + 0.233X
- 0.157X+..

A

⑨



Solution served as a suggestion only

>-

&==(se-bet] fl = Else+ seet

= Leibesowe
submit=-In2

&Y=f = 3

:Grad of normal =-

⑨



-
* = sestrcest(e3+ce3y pozles" -4 +4e"t]
· Iest+4+4e)

=>x-y=2

using G.2, XY,T2



Solution served as a suggestion only

-

Thni:Frs9 In2X

=-cosecX

CHS: (sxcosx(f)
=Esin'x

I

⑨



=

cosec6xc0+3X = tan3x
= cisx

i (a
-
*cosectxcot3xdx = Si WrexCis &X

-Ifie-cosesx ax
il19

-E[51o+3x]
Te

:-f[ i-is]

=-fo) sis)

:I



=
-

x2+ 16x+ 64 + (mx-14)"=52

x+6x + mx-28mx + 196 =- 12

(m"+1) x +(16-28m) x + 208= 0

b
249c = 0

16-c8m)?-4(w+1) (208) = 0
256-896m +784m=-832m2-832=0

- 48m"-896m-576= 0

3m+56m +36 = 0



=

3m+56m +36 = 0

m = - E or m =- 18

subin (m+1)x+(16-28m) x + 208=0

↓x+14 x +208 = 0

x =-12
, y = 8

subin (w+1)x+(16-28m) x + 208= 0

325x +520x+ 208 = 0

x=-I y = Ez

:

coordinates of A & B are 712, 8) and 1-,)



=

let

3fte
3: T

&Traulate a units in positive x-axis direction

3: Ta
&scaling parallel to y-axis by

factor of Ita

9: Far
③Translate a units in positive y-axis direction

y = a + tar



=
xy-ay

= ax + K

xy-ax = <+ay
x(y-a) = k+9y

x=hat
f"(x)= HCY, xtIR, XAa

f"(x)= f7"(x)
= X

↑202sel: Iha



=

3 = xIn f

a=-3xx+ x
= Fent

*
= o

3 lux = 1

1x=

x = c
"

y = ="E

= Fe

↓
coordinate (e*, se)



Solution served as a suggestion only

=
Sx" Inxdf 4= lux d=x3
I

· Fex"inxt]exsdx
=1 v = -Ex

·Ejin3] +Ex"]?
-is +1-50+1)
·Ert\n3

⑨



=

-Ste-- dx
(x + 1)2

=In 1x742xtil++C
= 2In 1xt11+1 +C



=

· Stax tax
f

1/2

T= [21n 1x+11+1]. [2n 1xtll+1
=- [21n2 +2-3] + [2(3 +1 -CIE-2]

=
- 4( 2+2(n3

= - 4(3-In2) + 2n3
=
.42-6n3



E

ded-willa

+4ad + 4d=a+14ad

- l0ad + 4d= 0

d (-109 + 4d) = 0

·dto 10a = 4d

dea



=

so

iovossoosi
=
tan[R: K=E

Smt:-cost=-z

Seisii
·E)
= I (H E)
-

E



=
--

*= a - (a +26) (x-1)
2

=o a =Tel
<x-1)-ed
*-2x+1-eb = 0
·No turning point
b"-422 <0

4 - 4 (111-9b) <0
-- It ac <o

a +2b < 0

a c-2b

4= ax-ca-e

When x=0 y=-2a+39
=a

when y = 0 ax-2a= Ea

xx-2)(x-1 = 3
-3x-1= 0

:frills
a

asymptoles x= 1, 4 = ax
-a

·b =-2a, curve has no stationary point



=

y = ax-a

-! gart,~

3-TT

i
-

-

-

-

-

1, 0)
*a

(skis, 0)E

~
T

·--

.... Fili

a (x-2-5) = aCx-D:axo
a x-2a-1 < ax - a

- a-Ea zo
1- E1 1 0

From graph: x 1-2 or x>(



A

TE =W8-JP
·

Eas
PTR) = 939:575-p>

44) = 225 +30p+p2
p"+30p-216 = 0

p = 6 0r236: point P is below &, p=-36

let = (8%) wis -poo w =st)
E =

f0=-5048) sc=fgo)=co f i)
#3 x B2 = 58) x fet

· fieing) - (P)==/s)
(200) ()=2530: F.(2) = 2550

5x +y +2z = 2560



=>

ToEaez)islostinit where se

20 +3127

(o+cxx()) =s
990 + 15701 = 2560

*= I

·pt of intersection: (a)
·coordinate: 1512, 44,-22)

let 4 be o

sno.Iflli
Sin= =3
0 = 1,280

~ 1.30



=

& = kP

↓ dP=/K dt
In 1P1= Kt + C

P = Ad
*t

where Az 1 t
C

when t =0 P=50

·

A =50

=>P = 50e
t

when t=10, p=100

2 = eK(0)

In 2 = 10K

K = to In2
(to (uz)t

=>P=50e

= 501)



=

S too-B) dP=/x d

↓dP=/x dt

- p"+ 500P

9250)[25oz dP=xt+ <

solulop) = xt+ C

500Xt 500 C

t-p = Ae where A: 1 e

When t= 0 P = 50

:F = A

~ hen P= 100, t= 10

In= 50004

x = oor Inf

·p=be(toIn
4) t

·f/f)
9p(a = 500 - 4

↑ (1+ 998(*) = 500
4:Tef)



Solution served as a suggestion only

=

·
+-> 0, (E)->o

:P-500

For the first model, population will grow infinitely in long

run and the refined model has a limit at 500, which is

more realistic and thus, it is an improvement


